
A.  Seat 1 E.  Back Leg with Wheel 2 1.  JCBC Screw M6 x 50mm 4

B.  Back Rest 1 F.  Tray Support 2 2.  JCBC Screw M6 x 40mm 16

C.  Back Rest Support 1 G.  Side Tray 1 3.  JCBC Screw M6 x 35mm 4

D.  Front Leg 4 H.  Arm 2 4.  Allen Key 1

14 25

1. 2.

 Turn Seat A upside down and fix one Tray Support F with 2pcs Screw  Fix another Tray Support F to Seat A with 2pcs Screw M6 x 50mm

 M6 x 50mm using Allen Key, then slide in Side Tray G.  using Allen Key.

3. 4.

 Attach Back Leg with Wheel E to Seat A and secure with 4pcs Screw  Next, fix 2 units of Front Leg D to Seat A with 4pcs Screw M6 x 40mm

 M6 x 40mm using Allen Key.  using Allen Key.

5. 6.

 Then, fix another 2 units of Front Leg D to Seat A and secure with 4pcs  Attach Back Rest Support C to Back Rest B and secure with 2pcs Screw

 Screw M6 x 40mm using Allen Key.  M6 x 40mm using Allen Key.

7. 8.

 Allocate completed Back Rest B to Seat A and secure with 2pcs  Lastly, fix 2 units of Arm H to Seat A & Back Rest B and secure with

 Screw M6 x 40mm using Allen Key.  4pcs Screw M6 x 35mm using Allen Key. TIGHTEN ALL SCREWS.

9.

IMPORTANT

RETAIN FOR FUTURE REFERENCE

READ CAREFULLY

FITTINGS

  T O T A L

PARTS LIST

  T O T A L

E E

A

40mm

40mm

40mm

40mm

40mm

40mm

40mm

40mm

D

D

A

40mm

40mm

B

A

C

40mm

B

40mm

G

F

50mm

50mm

A

G

F

50mm
50mm

F

A

D

40mm

D

A

40mm

40mm
40mm

35mm

35mm

35mm

35mm H

H

B

A



   CONDITION FOR USE : This item is designed for domestic use only e.g. around the home, and not designed or intended

for commercial use e.g. pubs, clubs, restaurants, hotels etc.

KEEP YOUR ALLEN KEY TO RETIGHTEN ALL SCREWS IF AND WHEN NECESSARY


